Non-AP Calculus Ch. 4.1

Find the Indefinite Integral: Classwork Worksheet
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Finding a Particular Solution In Exercises 35-42, find
the particular solution that satisﬁes the differential equation
and the initial condition.
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35, Fx) = 6x, £(0) = 8

36. g'(x) = 4%, g(—1) =

38. f1{s) = 10s — 125%, f(3) =2




Finding a Particular Solution In Exercises 35-42, find
the particular solution that satisfies the differential equation

and the initial condition.

39. f7(x) = 2, f1(2) =5, £(2) = 10

40. f"(x) = 2%, f10) = 8, f(0) = 4

41 f7(x) = 702, f(4) = 2, £(0) = 0
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Finding a Particular Solution In Exercises 35-42, find
the particular solution that satisfies the differential equation

& and the initial condition.
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Finding a Particular Solution In Exercises 35;42, find
the particular solution that satisfies the differential equation
and the initial condition.

3. 6 =2, £2) =5, £2) = 10 | O
’P)[x}:J‘acﬂx 0= F6=x"xt ¢,
P

(7 n p{ '_J\, ]O::o’\)z.g.&-{- C2
~/ TX)= DZ “!

£h) = Qwrc,./ ) %H x

5 = 2(a)+C, = Faxre

5= 4+ G )= x4x+C

( ( :a Ky{}s]ujm(‘zi ))

0. 76 = 5% £10) = 5, £(0) =
7 , 3
£ /w)--[xze“ PE)=%r 8

#(3)=5

xp( ‘ 3
s [ #y)H60)= f 5t W)
“pfx): “‘—‘|‘Ca / J / :
)= X )
o —"'+C, wc() +S’><+ C,
¥=c. = %-r Hoy+Cy |
. 4‘: Cz_ J"”j‘ n ({)Jb)
A1 176) = x50, f(9) =2, £(0) = 0
6= 4 L2
X X Ay oZ‘ "‘“+C, 7, +3><+C,_
Jh vy
fhy=2" 4. =G ) et Ber €
/l f%m _ 3 C

O= 0+ 0+C
, =4 . et
9= ac 2 gy g%

A Oh s W G
J<-2( =~

() "+ ¢, +x)= Jo?x % 3dx H\&L 4XE )
= _‘5711' C‘




